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WA Witk 60 mLx1 i, 4°CI#1F;
WA WK 2 mLx1 &, 4°CIRAE
WA= WK 2 mLx1 &, 4°CIRAF
RANY: Wifk 12 mLx1 i, 4°CHRAE.
BV
1A mBALTE (9) « EWAERmML)N 1: 5~10 FIHE] CEAFRELZ) 0.1g 4HE40,
TN ImL ) —) , #7513, R HEEL 30min, 8000g, 25°CE.C» 10min, HU iERF.
2. IM3E () SEiares: EENE.

MELSE:
1. /e e T 30min P L, AT E 510nm.
2. FEAI 2
¥ R ERAE EP & I 1 R )
WALFE (ub) M X R A
FEA 200 200
WA= 30
A, HEIERE 5 min
k= | 30 |
A, HEIERE 6 min
7 Y 200 200
&K 400 460
AT, ZIEAE 10 min

T Aml PEEE I, ZABKIEZ,  510nm AbJi il i B 2 i A I RO E, 7l A
WEA AR, THEAA=ANIE-A X RENIEE B R

EE S B
BRAESE T 52 [E 77 FE A y = 3.0544x - 0.01 R?=0.9994;
X N T E®E (mg/mL) , y ANOBEZEMEAA.




1 ¥IRIE GR) ABTE
&8 (mg/mL) =(AA+0.01)+3.0544
=0.327x(AA+0.01)
R
AR S B (mglg B 5) = [ (AA+0.01)+3.0544xV1]+(W xV1+V2)
= 0.327x(AA+0.01)+W
V1: ISR R FPEEARMAER, 0.2mL; V2: JIASREGRIARL, 1mL; W: FEAFIE, g




